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However, by grapevines, more is required - 9D "Ya 2%pa VAN

Overview

7o 21 qualified the ruling of the 71wn, which requires a distancing of four mnR, that
it is only between trees and trees or 22193 and 22193, however trees from 2193 require
a greater amount of distancing, on account of the birds which settle on the trees and
damage the 0°193. Our Moo qualifies this rule of Ao 2.
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The rule of 7101 27 is valid, provided that when he planted the palm trees, the

trees were already tall -
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However if he planted a kernel, it does not require greater distancing (more than
X'"7), since the tree grows automatically and it is not considered ‘his arrows’.

Summary
The greater distancing is only if he planted large palms, but not if he planted a seed.

Thinking it over
When n19010 writes X2 7773 y01 oX 928,* does M9 mean that by a 173 we do not

require distancing more than X"7, or does N1©0IN mean that he does not require any
distancing at all, since it is only a ¥ (and it’s not 77997 >3)?

! He replanted trees that were already grown. In this case as soon as he plants the trees the birds come immediately
and settle on the branches and continue straight on to damage the adjacent vineyard. It seems that according to n9o1n
this is considered 1°9°7 7% (see 7w n7nl). See the X3 previously on 2,20 regarding the 7>1.

2 See ‘Thinking it over’.

3 We follow 01 1 that if it is not 7°2°7 1%, we do not require distancing. In this case it is not 7°2>7 ™3 since all he did
was place a kernel in the ground. That certainly did not casue any damage to the 0°193. The damage that happens later
is certainly not considered ‘his arrows’ — 7°2>7 A,

4 See footnote # 2.
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